2022/12/28 03:50 1/7 ooog

ooy

Oo&bn

oo oo oon
googd

00

gooooboo

00000 pd799
OOOONS$(IMeNe40)$ 00D 0000000000000 0OO0OOMOOOOO0OOO0O0000O

O0000000ON2DOONR00DCODOOODO0O $2720=1,04857630 0 0000000000000
ddddudodddooooooouuououuuouda

#include<cstdio>

#include<algorithm>

#include<queue>

#define 11 long long

using namespace std;

int n,half,totl, tot2;

1l m,a ,ans, 11 , 12 ,times ;
void dfsl(int x,1ll cost

x>half

11[++totl]=cost;

’

cost+a| x|<=m
dfsl(x+1,cost+alx]);
dfsl(x+1,cost);

void dfs2(int x,1ll cost
X>n

12[++tot2]=cost;

I

cost+a| x|<=m
dfs2(x+1,cost+alx]);
dfs2(x+1,cost);
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scanf("%dsLld",&n,&m) ;
int i=1;i<=n;i++
scanf("slld",&ai]);

half=n/2;

dfsl(1,0);

dfs2(half+1,0);

sort(11+1,11+totl+1);

sort(12+1,12+tot2+1);

int x=0;
12 =-1;
1l sum;

ans=sum=tot2;
int i=1;i<=tot2;i++

12/i]+11 >m

ans=sum=i-1;
’
12/i1>12[1i-

12 ++x]=12[1];
times | x|++;

int last;
last=tot2=x;
int i=2;i<=totl;i++

11/i/>111i-

int j=last;
;32055 --

12[j]+11/i]<=m
sum-=time; il;
']
last=j;

ans+=sum;

printf("slLld",ans);
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#include<cstdio>
#include<queue>
#include<cstring>
#define inf Ox3f3f3f3f
using namespace std;

int

w,h,grid ,disl ,dis2 ,vist ,dx
={0,0,-1,1},dyl4]={1,-1,0,0},d1,d2,ans=inf,x1,y1,x2,y2;

struct unit{int x,y;};

void bfs

memset (disl,0x3f,sizeof(disl) );
memset(dis2,0x3f,sizeof(dis2));
queue<unit>q;
disl(x1]|[yl|=0;
vist(x1l]| yl|=1;
g.push({x1,yl});
int m=1;
unit head;

m--

head=q.front();

q.popt),;
int i=0,x _,y ;i<4;i++

X _=head.x+dx[1i],y =head.y+dy[1i];
X &&x <=h&&y &&y <=w&&grid|(x [y [!=1&&!vistix ||y |&&grid|(x [y [!=

disl(x ||y |=disl|head.x![head.y!+1;
vistix |ly [=1;

m++;

g.push({x_,y 1);

memset(vist,0,sizeof(vist));
dis2[x2]|[y2]=0;
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vist(x2]|y2]|=1;
q.push({x2,y2});

m= ’
m__
head=q.front();
g.popt);
grid/head.x| head.y|==
ans=min(ans,disl/ head.x| head.y|+dis2/head.x | head.y!);
int i=0,x_,y ;i<4;i++
x_=head.x+dx[i!,y =head.y+dy[i];
X _&&x_<=h&&y &&y <=w&&grid[x ||y [!'=1&&!vistix [y
vistix |y |=1;
dis2[x ||y |=dis2|head.x!|[head.y!+1;
m++;
g.push({x_,y });
int main

scanf("%d%d",&w,&h) ;
int m=0;
int i=1;i<=h;i++
int j=1;j<=w;j++

scanf("%d",&grid[1][j]);
grid/il[jl==
x1l=1i,yl=j;
grid[i][jl==
X2=1,y2=7j;

bfs();
printf("%sd",ans);

’
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#include<cstdio>

#include<algorithm>

using namespace std;

int n,m ,half,totl,tot2,po ,ans,vist
struct unit

int state,val;
bool operator < (const unit&x) const

vall=x.val val<x.val;
state<x.state;

setl ,set2 C
void dfsl(int x,int state,int sum

x>half

setl|++totl|={state,sum;};

’

dfsl(x+1,state,sum);
dfsl(x+1,state|po!x|,sum+m|[x]|);
dfsl(x+1,state|polx]|,sum-m[x]);

void dfs2(int x,int state,int sum
X>n

set2|++tot2|={state, sum};

’

dfs2(x+1,state,sum);
dfs2(x+1,state|po!x|,sum+m|[x]|);
dfs2(x+1,state|polx]|,sum-m[x]);

int main

int i=1,j=1;i<=20;i++, j<<=
polil=j;
scanf("%d",&n);
int i=1;i<=n;i++
scanf("%sd",&m[i]);
half=n/2;
dfsl1(1,0,0);
dfs2(half+1,0,0);
sort(setl+l,setl+totl+]1);
sort(set2+1,set2+tot2+1);
/*for(int i=1;i<=totl;i++)
printf("%sd ",setl[i].val);
printf("\n");
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for(int i=1;i<=tot2;i++)
printf("%sd ",set2[i].val);
printf("\n%d %d\n", totl, tot2);*/
int 1=1,r=tot2, r0=tot2;
l<=tot1&&r0

//printf("%sd %d %d %d\n",l,r,r0,ans);
setl[l].val==setl[1l-1].val

setl|[1l].state==setl[1-1].state

1++;

int i=r+1;i<=r0;i++
lvist[setl|[1l].state|set2[i].state

vist[setl|[l].state|set2[i].state]=1;
ans++,

ro=r; r0>0; ro- -
set2/r0].val+setl|1l].val<=0

r=ro;
l(set2/r0@].val+setl/1].val

;r>0;r--
set2/r].val+setl[1l].val<0

int i=r+1;i<=r0;i++
lvist[setl|[1l].state|set2[i].state

vist[setl[l].state|set2[i].state]=1;
ans++;

1++;

printf("%sd",ans-1);
0;
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